Assignment 23

Ex 15.7.2 Evaluate //zydz dy over the square with corners (0, 0),

(1,1), (2,0), and (1, —1) in two ways: directly, and using
z = (u+v)/2,y=(u—wv)/2. (answer)
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Ex 15.7.6 Evaluate //\/12 + y2 dzx dy over the triangle with corners
(0,0), (4,4), and (4,0) using = = u, y = uv. (answer)
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Ex 15.7.7 Evaluate //y sin(zy) dz dy over the region bounded by

zy=12zy=4,y=1 andy =4 using z = u/v, y = v. (answer)

?‘:3— g:\/ 7_l
f=L g,20 = .
U\’\/ %‘A %:\ NN a_:l{ Vv = l Y
- = =\ U ov =0 )u\;-\
QV’V“’ %" % 5 ] | \ )
y . L=y ):'Lf 1 .

3 \% Sulw)dn = 3@»31&\\1 z(—@g(wymgm}

\
1



; \ "N V)
Ex 15.7.8 Evaluate // sin(922 + 4y®) dA, over the region in the first X = — - —
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quadrant bounded by the ellipse 9% + 4y? = 1. (answer) -~ - -~
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